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LbEnwagbdnb smon:

danfeozsbm dmbBaffommaggdm

sBm3ab700L s8mbbbBalab gobmao gabbmamyo:

Hnfmob babamdmaozmds d3ama76b 5 (byom) sbigmmbmanymm Lasml.

Hgb@ob dajbndsmmnm Jrmeoms yabos 100 s

moomgnen sBmabob dsjbadsmafmo Jnmas Gmggdnmmns dgbedsdal s8mpebado dafmy 376
Jowgdo

Jalmbgdnl eynfMmEambg saanmadmae esshafmaom oidzabo gasfn, babgmmao @a bimeme.

Jabmbgdn 9bes Ronfafmlb Gbmemee  Jabnbadol sufmamdn Gmegdom dgbedadnl
Axfaddo.

dabmbn, Mmagmog dgbadadnbn pxfmnb gafmaom odbyds dn@ebngmn, sf Snmabmgds.
dabimbgtn @afafgom gafmiznznm

do8omfin Myadannb Gmenmagddo bggdomaadmonmn smgnognlbgdo gasbfmfgom
aninemgbmsee Sonooogo booeggdol gabbmbamgdgdn, bamagg ofmol dgbadangdaomo
dafyzodaom dabipbadol gopgde e a@agm cid3gbo jamadn emmal s8mfrmzoboaebazg.

Jalmbgonl enfgamo s ogmfbogoo Gabdodol @gnfpimo Sgammaegds Hafaob
abfmmmmadobsl.

aobafmzgdo famdaBgdgdl!

dodnonl 54-7 bagfmmadmnbm mmmoddnsenbognl badatmagmmmb bagMmadn gnboal foamadnl dabafmfagan &nimn 2



Lb&neagbdnb smon:
BNBO3TGN 3MBLOEOIBN, IGMII@IB0, BMGITDJ80N ©H 356GMTI8I00

gobob g6o3zgMmbamymn 3mbLEAEGS R =8.3145 J-K-"-mol"!
bebesmdymo §63s /° = 1bar = 10° Pa = 750 mmHg
s@8mbeggfyme §633s 1 atm = 1.013x10° Pa = 760 mmHg
gambonbob d4ammal Bxen GamGEomo 273.15 K

1 8sbsol sEmdnfmn ghognmo (8.5.9.) 1.661 x 10727 33

dadeazecen sensdadinfmn  dMmegbn  o@Egeeafn pVM”:" = const
gababomznl

negamnafn  gebol  dogfh  dabfmmgdnemn  dndomds
senadadnm Immpgbdn W=nCv(T:- 1)

dobsgabn gbafmannl ceadminceadnmads Baddamednmat IXT) = LT + Cr( T~ T

Jozdnfin Bmenyf obBmdsfnem s nbmdmfmam

mdmGI33mdal dmMol n@jsmymo gebgdabsmzol CG=Cv+R

¥ndbnb 9bgfana G=H-T5%

Jozdnfhn PmbBabfmmmbnl 4mBlGabBaba @ AG’
bEsbam®Enm xndbob g69Mansl dmfnl K = exp “RT
Mmoedgonl  yodbol  gbagfgool  sdmiogdymagds < a .,
3mbab@Mmanabis s 67357 AG=AG +RTIn=,

i,

eag
a =c/ (1 molfL) bbBafmnb bpdbBdaebangdnbamznb, a=p /(1
bar) gatigdnbamznb

xodbol  gbafanol  @3momgds  efmmdo  afmognom AG,
Bmgnmmdsdn bobBadobacmzal, MmBgmog Bmogssb mM = = AG; + AG,n,
do8onfa Mgedposl 1 o 2 Ggboedodobn  Mmgsdaonl At
Lafdefmaadom ri s r

afmaboyliob aob@menads Moadenals bohdsfn k = A exp(- E/RT)
dnednznbognb

3mob3nb sdmncondnmads [h = 6.626 x 107°* 4+ A E=hv<he/d

dndonls 54-7 bagmmadmfmobm mooddnseabomgnb badamomagmmmb Baymado gaboal §aamadal dabambazn &nto
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bSnEabGNb ymen:

08MBd6d 1. MIMNS 6660830 (15%)

azamds | 1 2 3 4 5 6 [71]7.2| 73 | bmm
Fnema A AR ERE AR AN 2 22

ogonob dnemmibowob bbbsemdab badMmszmn, Ke,(Zn(0H);) = 1.8 - 10-Y7

1.1. asdmomzammgon ovgonnnls fysemdn bbBambde gfon-dn.

Zn(OH); - Zn®* + 20H"
[Zn?*] = 5; [OH] = 25
Ksp = [Z0**][OH7 ] = 5- (25)* = 457

J 3(1.8 10V "
s="[Kqp = — = 1.65096- 107 M

s = 1.65096- 103 /e

(2 Jnmma)
1.2, as@mozammaom omoonl 3nefmmdboeol baxafmo Hysmmbbbafmob pH. 7anmadamyszom
dgbadmmm smddmgdbadab fafmdmdabs.
IL‘IH'] =25=13.30192-10°%M
pOH = —1g{3.30192 - 107%) = 5.481
pH = 14 — 5481 = 8519
(2 Jamns)

Ampgtnmos dgdeagn Mysdangdnb bEsbmam@nmo dmBgbanamngdn:

[Zn(OH),]?~ + 2e~ = Zn + 40H™ Ef =-1.28573
Zn** 4+ 2e” = In 9 =-07823

dnlnonl 54-7 bagMmomadmBmobm mennddnsabognl bagdemomagmml Baghgbn gnbeab fazfmgdob dgbembiyzo Eafmn 5



bSnEabGNb ymen:

1.3. agodmozemao GadMmaednemmdbmanbisdnb jmd3mgdbfsfmbmddbnl 8acednza.

Zn + 40H™ 2 [Zn(0H),]*" + 2e AGY = —zF(—E}) = —247966.45 %/8men
Zn*t + 2e~ = In AGE = —zFE} = 150902.54 x/8mmo
AG = AGY + AGY = 97063.91 %/Bomo
AG 9706391
{;4 = g RT = pfFia 29815 = 1.0134 - 1077

Bambidol gabBmengdoom gadmmamma:
0.0591

EY = EZ -

0.0591
—1.285 = —0.782 —

B, = 1.052 - 107

1gB4

(3 Jaam)

1.4. gsdmogemngo omownnlb  dnfmmgbogol  bbbsemds pH =9.58-B3. panmydymys3nm
dqbadenm gm83emgdLgdolb GamBmdaba.
[Zn?2*][OH- ]2 =18-10"7
pOH = 14 — pH = 14 — 9.58 = 4.42
[OH™] = 107 **28mgmo /e
1810717

[Zn**] = W =1.24530-10"%

(2 Jaemnes)

Jnfanl 54-7 bagMomadmfmobeo meod3nseabongnb bagdefmomggmmmb Bagfgdn gnbenb frafmadol dbambyzn dnfn 6



LEnEIbGNL smeen:

1.5. aoOmmzsmgom oponal  dnefmdboenl  BbBsmds pH = 9.58-%. «8 dj8mbagzedo
ganmaamobfnbyon @a@madnemmibmimddemadbn,

S = [Zn**] + [[Zn(OH),]*"]

[Zn(0OH),]?" 2 : -1
= W [Zn(OH),4)*~ = B4[Zn**][OH"]*

S = [Zn?*] 4 B4[Zn?*][OH"]* = 1.24530- 107%(1 4+ 1.0134 . 10'7 - (10~442)%)
= 1.50897 - 1078 Beagwo fgo

(2 doema)

omns ©s s80s30 GoMmBmddbnsb 3mB3madbgdl: [Zn(NH3)]%*, [Zn(NH3),]%*, [Zn(NH3)5)?*" @
[EH(NH3)4]2+‘ Bﬁmhﬂ@ﬂﬂ, fomad B'i = lnl’.lEJ BZ = 1{}4'43! BE = 1[}6.?4’ B4 = luﬂ-.?ﬂr pr(NHEJ -
4.7

1.6. gaBmaonzaemgo bbBaMmdn cxnoymgyyena s80Bm3ma3igngduol Bmenafmo foemn, Mmeegbag bubamadn
sfadfmmEmbofmadnemo adoagol 3mbagb@dmagnas 0.1 M.

a 2 = By INH, =2.7-10"
[EntNHE = 1 B, [NH3) + Bo[NHSZ + Bo[NHS + By [NH]* ~ ©
B [NH,)?
- g3 = - - =48-107
Hlznin) = T8 INH,] + ﬂziNHzlP + EEENHHI-* FRaNAg - 8
Bs[NH, .
; 2e = : . =98-10"2
H[Is:ﬂNH_{]-{]‘H' 1+ H|[NH3] + HZINHEF 4 [1'3[’NH3|J + ﬁ-}lNH'jI'II
B, [MNH:]"
B4 [NH;] 0897

M = T8, INHST + By [NHS T + B [NHS T + B, INHSJ*

(4 daema)

Bofmgzdo, Mmbgmog dgopest 8bmemme NaCl-bs s NaNO05-b, bagofmms BaBMmoyndnl BodMmadnb
aabbabmama. s8nbamznb, 5.00 3 bodydnbzsb Eass@bacegl 100 bLE® basbasmnbm blbsfmn. basbagnabm
blbafmol 10 bA* Amgymmdal Eagdadigl opoinnl wb3bomo Gadg gamadmdn. Mgsdponb dyEjgem
goBmymangn adnsjn gasBdafgl 50 L8 0.150 M HCl-ob bbBsfmdn. dafdn HCl-ab gadodzmab
@sbdnmos 32.10 b@* NaOH-nl 0.100 M bLbBamn.

dn8onl 54-3 bepfmomadmfmnbm meoddnsmobozol bagdafmoagemmlb Bagmado anbeab faamgdob dgbamfiagan Gafmno 7



bSnEabAnbymen:

1.7.

1.7.1  asfafgo gecabadmadymo Mosdaonl Gmenmds ovonabs s Ba@dfmondol Bodimsdlb dmfnb
Bndg gofmgdmdn.

1.7.2  psdmomiammao bafmgadn badmombol Bodmadnb dabnfmo fogmo.

1.7.3 Mo Bpddafmadnmaby aonynbgds bLosbsmmobm blbsfmo oy ghombimdnme Spmdngas
K = 1.86 K-33-8mmao s bbBafob Lnd33Mnzgs 0.985 a-LE~.

s) NaNO; + 4Zn + 7NaOH + 6H,0 — 4Na,[Zn(0H),] + NH,

1 dnema

3)n(HC) = 0.05-0.15= 751077 8mann
n(NaOH) = 0.0321-0.1 = 3.21- 107* 8menn
n(NH;) = (7.5-3.21) - 107* = 4.29 - 107*8mgma »8ns30 faMmBmndd6s 10 8 blbaMmnboznb. Badabamady
100 8a-ab 8g8cbagasdn ngbgds 4.29 - 1072 8mann.
fgagdanob dobye3no n(NaND;) = 10ng,,(NH;) = 4.29 - 1072 Bmgnin.
Bobo: m = 85 - n(NaNQ;) =4.29- 1072 -85 = 3653
2 femas

=

wi6(NaNO,) = ﬁ- 100% = 72.9%

a) 1000 8 bbbafmob Babs ndBada 985 5 (5 a 6afMg3n s 980 3 Hysmn).
n{NaNOQ;) = 4.29 - 1072 8mgnn
n(NaCl) = =222 = 2.316 < 107 Beageon.
4.29-10"% 4+ 2.316- 102
0.0098

ATy=-Km=-186-2- ( ) = —0.377 °C

2 dqma

dndanl 54-7 bagMmoadmmolm mennddnseabogol bagdsmmagmmb bagfgdn anbeob fazfmgdol gbambgzn Enfhn 8



LAEI6GOL gmeen:

38MB365 2. IGMA0 © 30L0 53IGAIB0: IWIIOGMING0S © 30630033
(19%)

ygamads |1 |23 |4 (5|6 |7 |89 10|11 |12 (13|14 |15 16 | 17 | lmm
dnema 3|32 |3)1)2|3|1}1|1 |4 |12 ]|2]| 3] 2| 37

a) Jmmadnb gagmzabnn famdmgda

Ba@asmamn Jmmidnm Easmsfmzs dgbadmgdymns JMmddgagel fyamblbibafmab gmaddfmmanbom
(H;Cr0y).

bbbamdn aBafmgdebgb 1500 a835M @96l 7.00 bor-nb gabBagmmdadn. Jammeb] gadmoym 4.15 8°
Pysmbdoan bEHobmom@nmm dnmmagddn (25°C, 1.00 dafmn), Mmammy cwbadmmenidn, Madag
daadpoma Jmmdol gadmbazmosbmds. sofmo gadmnym aby3zg sbmotbge.

2.1.  csfafmyom gemgddmmeegdty 8ndenbaMy ysgme dMmagliol gamabadfmydama Gmammd..
Jaoimgen:
2H;0% + 2e™ -+ 2H,0 + H;

f (1 Joams)
CrOZ™ + 8H* + 6e~ = Cr + 4H,0
(1 Joam)
sbmen:
6H;0 — 4H;0" + 4e” + 0,
(1 Joms)
2.2. aodmm3zamgm jhmanl gedmbaszmnsbmbs joommeby (@abol Sabyeznm).
) p-V 1-10%35-4.158° o
n = = o= 1. 1Ta )
“TRT 8314x8ngo 'K-1298 K b
cz+F  167.5 doagmo - 2+ 96485 5§ - Beagmo ™!
e 5 i > 99-00@0 0855 = 85.5% H,
Pt 1500 5« 7hon - 3600 §a - bon
(2 Joam)
Jmmanb gadmbagmnabmda gbol 8obyegnm: n = 145%
(1 Joems)

dndoal 54-7 bagMmomsdmfmobm mendinaeabomanl bagdsfmmzgmmmb Bagmado anbreab fozmydnl dabsmbgan Enfho 9



LHEIbGNb gmeen:

2.3. aodmomzsmgo gadmymenemn JMmaol doba.

I-t-n 15005- 7boy- 3600 fjd o™ - 0,145

n(Cr) = - - -1
Z.F 6 - 96485 §o dewgro

= 9.5 deweno
(2 Joema)

dfmdob Sabs: m =n-M = 9.5 dogro - 524 Ao = 492 %
(1Jaem.)

2.4, as@momzammaom sbmeohg gadmymomnmmn snfmob dmpnemmbs bEsboasmEnm dnfmdaddn (25°C,
1.00 dafmn).

[-t-n 15003 7bo> - 360050 bo™" - 1

0.) = = 97.9 do
n(0,) z+F 4 - 964855 i Elt-myn_j e
(1 James)
POy R-T _97.9 8expo - 8,314 Jdeugpo” 'K-1-208 K e
4] 1- Tﬂsn_’h‘r
(1 Jaems)

&) dmmdnl 3emgd&Mmmdndns s Babin BagMmogdo
dfmbds (dgfmdbymoeasb ,ypwme” Bodbasb aygmb) sbgon babymBmegds doomm ndadmd, Mmd dnb
Baafmmgdl (nmbBgdl) adal dazfmo geblbzszabmemn aafmn,

qd338mom Smpgdamos afmsbfnmo madndgfmol Ensgfmads Bmaogfmon o8 omboboizob pH = 0
dofmmdgbnboizal. yzames Im@Gabensmmn dmiadamos gmendaddn.

+0.295 l’

Crzﬂ%“ +0.55 Cr(V) 3¢ cr(v) _* cr3+ 0424 Cret Y . Cr

batobyobgggio fomao dfigaby 00bggmo gobgn®o

-0.741 T

dnlnnl 54-3 bagMmomsdmfmobm menod3naenbognl bagdemomagmmb Baghgbn gnbenb frzmadob dgbsmbigzo Enfmn 10



LHEIbGNb gmeen:

2.5. agedmoizammgo gadm@Gmagdnemn 3mBabiansmmadab, x-nbs s y-ob dbndzbyenmdqdn.
6:0.295 =3+ (—0.741) - 0.55 - 1.34
= ¢ =2.109
3-(—0.741) — (—0.424
y= ( }2 ( ] = —0.90 3
(3 doens)
2.6. dgbadabnbin gedmmamadom asbsdyogo, Mmd Cr(IV)-b dynpdmns @abdMmm3mMmznmbBofmoegl
Cr(li)-bs os Cr(VI)-dn.
Cr{IV) ab3mimmpnmbBofgdl, Mapasb
E°(Cr(iV)|cr(liD)) = 2.10 > E°(Cr(VD)|Cr(IV)) = 0.945 3
0.55+ 1.34
E°(CrivD|cr(v)) = ————=09453
(1 Jaems)
2.7. as8mmzamngom @obdmmdmmpnmbomydol Mysjanolb HmbabiimMmmank 8nedngs 25°C-%).
AE® =210-0945=1.155 3
(1 Joana)
AGY = —z-F-AE" = =R T InK
= InK = 25 = §9.96 = K = 1.2+ 10%
(1 Jaems)

dnlnnl 54-3 bagMmomsdmfmobm menod3naenbognl bagdemomagmmb Baghgbn gnbenb frzmadob dgbsmbigzo Enfmn 11




LHEIbGNb gmeen:

2.8. ob3mmamfmombomadl oy ofma Cr(ll), Cr(i)-8n @s CrH{0)-dn? Bmbndbam Lmfn Jebnbo @s
abbnBnoy  odagbn ofmbgzebn Bmpndnem  ofmmbéol  (Frost) ooamoeboty  dgbodaednbo

dmbndzbatnom.

T

0.5

Cr

-0.5

-1.5

Crlll
=25 N}

O 30, cobdmm3mMmgnmbaMgdl
O fx) sfa, ofh enb3mm3mmenmBofgdl

Cr 03

Cr?*  -0.90-2=-1803
Cr¥  -0741-3=-22233

(3 daeme)

dnlnnl 54-3 bagMmomsdmfmobm menod3naenbognl bagdemomagmmb Baghgbn gnbenb frzmadob dgbsmbigzo Enfmn
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LAEIbGNb gmeen:

3nmiysl (Pourbaix) nsgmads (8aMy3bng) sbabagb JMmBol 33833300 y3gms Bafoma ol g56335-
smEaibomn 3m@Gbanemnls pH-Yg

wabmyn@ydnmmgdal.  fmbsbfmfmm
deegmdsfmgmdadn y3zgms Bafomasol

sddngmds hsoigmomos fmd ool 1
(a = 1), gofgos, H-ba (H30%).

Cr®

15

2.9. asbobgmam mfn Bofnemagn,
Mmmdgmma smeaabob 3mGgbgnagno 8maadym pH-nb BamaMmyddn 8yedngn..

Y37 ImfmnbmbdomaMs gamed zgmo babom, o6y Cr*| Cr¥

(1 Jaems)

sbamnbnfm Jodnosdn bdnfmsw geBmnygbads 1s06a3s-smeaiboomn bobBads eodfmmdadn/dmmda(lll).
dnbin biFaboam@Enmn 3m@gbanamns E“{Erzﬁg_|(:r3+) =+1.331.

2.10. pH-ob fmdgmm Bmamgddo gamamnls Erzﬂg_ Cr3*-gn?
0-goab 4-8coy
{1 Jaeme)

2.11. cosfigfmgo Babyzsmmgagdane g9ba3s-smeegabomn fuyzamobioznb Crzﬂﬁ‘!(lrg*.
Cry02 + 14H* + 6e~ = 2Cr** + 7TH,0
(1 Jomme)

dndonl 54-3 bagmonsdmfmobm meoBinaenbomznl bagdsfmomagommb Bagfgbo anbenb frzmadob dgbambigzo Gnfn 13



LHEIbGNb gmeen:

2,12. asdmoyzsbym geb@memads E = flpH) mfm Bafommajb: Erzﬂg"—h.:- @s Cr3*-Ly 3mMnb 298 K-B3.
(hanzammgm, Mmmd Jhmdnl 818330 Bafoma ool sd@ngmds of naamgda).

3mEgbanamols g3mmomgds pH-nb Bnbgegno:
RT, [Cry0,%][H;0*]*
E=E"+—]| :
6F [Cr?
BT . jcr0;*)
—|n

6F [Ge?*}=

BT
T — @O i Ot
E=E"+ o (~In[H;0%]')

s In[H,0*]* = 207 _ 44,9 3026 log[H,0*]

loge
RT-14-2.3026
E = E* — ———=——(log[H;0"])

RT - 14 - 2.3026
E=E° ~ ' nH

6F
RT: 14-2.3026 8314298 1423026
6F = 6 - 96485

=—0.13843
E = E° - 0.138pH

(4 Jome)

2.13. asfmnuagbyo odanb Bogf asbBmyzsbommo fMmongn oambdipns E-b gadmbamammgmoem pH=2
dbnd3bymmonborgnb.

Ey =133-0.1380-2=1053
(1 dnens)

a) 30Banga — Jmmado a Jonabmemn

dmmd(Vi)-non gonabmenol CHiCH:OH-nb @agabazs sy geBmoygbidmes 28mbpbordnem dagfmdn
qosbmenol aeblebmzMmnbozob (dodoamo sangm Eabdo”). gb MgadEne sbgzg gedmoysBgds Jodonm
sbagmatbdn. gabbaggdnmo KiCra0z-0l bbbafmn denngfm 8gs3s aMmpdn (o8 dg8mbagasdn 3.6 M HCI)
fam8mgdbob HCrO; ombgdl (83563530 Myagabdn Mgadgnolb ommby).

4HCTO; + 3CH,CH,OH + 16HY = 4Cr3* + 3CH,CO0H + 13H,0
(2 Jame)

dnlnnl 54-3 bagMmomsdmfmobm menod3naenbognl bagdemomagmmb Baghgbn gnbenb frzmadob dgbsmbigzo Enfmn 14



LHEIbGNb gmeen:

Bmadnen dnfMmdaddn Masdanob bohdsMmob gadmbabnmgdes:

V= —M = k' [HCrO; ]*
dt
bageag x ofnl Masdanol Mogo, Mmdgmog doammn Mogbzos, @fmmob bbgssbbgs t Gmdg6Bdn,
asbnbsbmams [HCrO | nmemdgdmnmn dodMmagonm 8030 sMadn, omeae-nmbol oagsbazom.
fgadanol djmggee gebmymoomn omeEn Mjsgomgdl coombyomastoshb (c = 0.020 dmeo/o)
dgfgan Mgodgono 25,087 + 1, = 217 + 5,02 933030ma6Bmdal  famGomn  obsbmamads
babas8gdmob nbrnga@mmom. s8a3sMo@ dgbadagdgmos [HCrO; |-ob goBmmzms @Gn®fmagnsdn
wabsfy oo cnmbrmasdob dmgammdol nbgeznm.

omnmmgne sbammobdn godmygbgdymo Bodypdol Gmppomds oym 10.0 dm. gdb3gmodgbénb
dacegaee domadmemn dmbagqdgdn sbabnmos gbfMomdn:

_Mgsdg0nb @hm t/ fo 0 10 20 30 40
 BmEammds V(S,057)/ 8 11.7 9.10 7.15 5.60
[HCrO3 ]/ 8menn/en 00100 |0.0078 | 0.0061 | 0.0048 | 0.0037
In[HCrO; |, -4.61 -4.85 -5.10 -5.35 -5.59
1
m 100 128 165 210 268

2.15. sfigMmgom 8ndenbafmg Mysdgnob menmdgdn s godmmzsmgo [HCrO; ], smbaab®magns
ﬁ'lfﬂﬁ-) ?{5203-‘) =103 E@

ZHCrO; + 14H* + 61~ = 2Cr** + 31, + 8H,0
I, +25,0,° = 217 +5,0,*
n(5:0:%7) = V(5:0;%7) - ¢(5,05°7) = 10.3 8¢ - 0,02 deagmo oo™ = (.206 ddoagoo
n(ly) =2 n(5;0,° ) @s  n(HCr0,7) =2 n(l,) = 2n(S,0,°") = 0.0687 Bderro
c(HCr0, ) = ICr0s ) _ 80997 _ 00687 dermo !

TOWHCRDLTY 1

(2 Jaema)
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LHEIbGNb gmeen:

2.16. goblabmamaom Mgadioal Mogn ¥ @ seggm 3mbabdMmaganl emmby esdmyneadnmgbal

dabadadnbin gMaomoin.

Tine
=3
g3
"-._-_4_51
4
=55
=

-6 i,
o 1) .0 i) E =] L] [ <]
{3 dnans)

2.17. goBmozammgom Mgsdpnol bokdsfmob 8nedngs k (aMmogammadnb h3abadno).

In[HCrO4 ) = IN[HCrOs Jo -k t
InlliiCrD,,‘ o 0.01
o HCrO4" |, _ ™ 0.0078 _ 0.025 ﬁm,"

L 10

(2 Jaame)
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Lidneabdnl jmen:

03(MBO6S 3. 36006860L MIGIIWN ©IFLNL FILES3DS (21%)

5 | by |
4 22

03350 1 2 3 |
5

4
s 2 3 | s

AfnbBdsmdnemadgdn sfmamfmasbnemn dafmoengdne, Mmdengdoy dgngesl Fymob 8menagnmadl
gabbobpafpmo  cwbsgfmemdoom, fmmgmfi  dafognol Govenabo gfobdamol  Bafogn.
degommnoee Badfmondol goMmdmbadn dgodmgds sfmbgdmbdeegl Lbzswabbas damazbommbdnb
JMobdaminomadgdol babnoy: Mmamme Bmbminemadn Na,C04 - H,0, 3p3@sdnefMaBn Na,CO; -
7H,0 8B  pgedncmafn NayCO;-10H,0.  ghobdoemioemadadol bBsdomyfmmds
wabmgncegdamos  Bagfogdol  dnbydatba, Ggddgmodnmaby w@e gufmemdngm  Gabnsbmbats.
HBmangfon yMob@Gaminemadolb ogmdym ademab ;ab sbemagb agfmob gamomds. Bagamnmado,
b3nmabd(ll)-nb bnmoas@dn famBmd]adbol ey aamob 3Mmobamadl, Mmdjmmoms djeaaboimmbs
Bmgsam dyndmagds gadmababmb CuS0, - nH,0, baai n =5, 3, 2, 1 @s naafmm, nfyenm ammas (n
= 0). ab ngebabibgemn dgbodmmms gadmynbadymmmn oymb mmamfe Haboabmdol nbongadmfmn
1dbngedmfmgddn (Fufmdgmmn, Mmdjmog gadmoygbads Bogmngfmgdgdab gobsdfmmboem, ob Gdfmam
gafmgdmdn dgbebobage). L3nmabd(ll)-ob Lamoednb sMobdeminemaBol @sdme dgndemads
godmnbabmb d78aan Gmenmdgdoom:

(a) CuSO, - 5H,0(y) = CuSO, - 3H,0(8y) + 2H,0(s)
(b) CuSO, - 3H,0(dy) = CuSO, - 2H,0(dy) + H,0(5)
(c) CuSO,-2H,0(dy) = CuSO, - H,0(dy) + H,0(»)
(d) CuSO, - H,0(3y) = CuS0,(dy) + H,0(>)

gagbamgdnbab 39b@sdnmMmadn owbramabmdom jafmagazh Hysmb e fomdmddbnl GMmn3nwmadl,
eadnemadl, dmbminemadl s dmenmb nhyamm Bafnmls,

8mpgdyemne goennbomymo gmfmbol (r = 5.00 bE) eaydom sodnmznmao bafmgsdegnm Famdaemn,
fMmdgnob dmgnomdob gzmomadeg dandemgds. o8 dafMdammdn 30300800 dmamaeslalb 1.28 g CuS0, -
5H,0-0b gobgzgfmn 3Mmob@damydo. FoMmdomal dmegnmmds oym Byebnzo V = 1 ©8° ©s bafmgigom
Bafmgan gasbnmab dnedos Fpdagmadniaty Ty = 400 K Hmbabfmfmmdnb madyasfmadadcon.

Bmangfmon Myeaabdol dymbgnmo ogfmdmenbsdngnfmn dmbagydgdn FoMmdmeaiboemns gbfMommdn
{Cg - afnb badgamm bomdm@)zaemds Grddamadnfmnb Omaadnm Bosmaddn o p = 10° 3a):

ﬂH? (298 K) 59 (298 K} Eg (298 K-400 K)

oymmdyma [Jx-ﬂmq;rm'l] [x'ﬂm@ﬂ'i‘K'l] [}{'ﬁmmn"ak"]
Cus0, - 2H,0 -1411.20 130.85 171.20
Cus0, - H,0 -1085.10 149.80 131.00
H,0 -241.80 J | 188.80 28.44

dza8mon Bmadnma gedmbabinmadadn shagbadl (a), (b) @ (d) Masdieogdol fmbsbimmmemn §byanlb
(32) Bod3gmadmmaby (T) sdminadnmmgdals.

2998.91

(a) logps;s = 13.0864 — =

(b)  logps/, = 11.9383 - 2225

2698.81

(d) lﬂgpug = 10.1759 — T
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LEIEIbENL 3meen:

3.1. sfamgo (a)-(d) 3mmpgbadols fmbolfmfMmmanl dpwednzol gedmbsbnmads Jsfmpnsmafmo
fBy3080b badnamadnom.
_ {Pu;0 ¥
Ka “( p° )p
K, =K. =K Hz 0
b d po
(2 Joamo)
3.2,

gofmozammgom HaO-b ol 8obodsgmpfmo §Bazs (T1 = const), fmmd8gmmog Mosagabdadob
bdadommabagnael 7Humdlb byemb Mgedigngdnbomsob: (a), (b) @ (d).

| = 13.0864 o
0BPs5;3 = 13 T
l - 119383 — 269386
0BPaz = . d 300
l = 10.1759 Sapae
ogp; e = 10.17: 200

Badabaqadsy:

Ps;za = 388150 3s

{1 Jaems)
Pafe = 159956 3
(1 Jamma)
Prjo = 2685 3a
(1 Joams)
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bSnEabGNb ymen:

3.3. agedmomzsmmao cnmmanemn Mgeaibdnb Mameybmds s §Ba3s T1 Gaddamadnmaty.

Mamggbmbgonl absmamama bagnmma 400 K-By fmBalifmfmbdnb 8nodngnb gmebs. s8obamanb
ovyfmdmenbadoinfmo Bmbaggdgdn 298 K-cosb 400 K-1g nbos gamagnyzsbmm.

AHZ(298 K) = —241.8 - 1085.1 + 14112 = 84.30 3 - dmemo ™
ASP(298 K) = 188.8 + 149.8 - 130.85 = 207.75 % - deagmo~! - K~

fmameaab Bmpadnmns 298-400 K Sgemamenl badygemm bocmdm@gzsemdgdn:

ﬂ.H1 = C:CUSD.'QHQG{TZ —-— T|} — 5 ) (39l (298 — 4‘[]{” = —17462 w ‘ﬂl"’b@:‘ﬂ_1
AH; = C cyso,1,0(T2 — Ty) = 131+ (400 — 298) = 13362, - Beagro™
AH; = CPyy,0(T: — Ty) = 28.44 - (400 — 298) = 2901 - dmgwo™

(4 Jaeme)
. Ty 298 i
.ﬂ.51 = Cpcugul‘_sznlﬂ ﬁ =-171.2: Inm = _50.40x . E]f"@ﬁ .
AS, = C° a2 = 131- I _ 38,56 % - Boseno? - K-
2 = “p CuS0, H30 “T_’— “m— et AR L
AS: =2 I 28.44 -] 40“—83? d S R
3 = Lpngo “-ITI- . T e S R

abmammadnnl s 3BEMmMAnnk ovznbgdnab ga8mdenbafmg:
AH2(400 K) = AH,; + AHP(298 K) + AH; + AH; = 83101 % - 8o ™!
AHZ(400 K) = AH, + AH2(298 K) + AH, + AH; = 83101 ¢ - Beagmo™! - K™

AGE(400 K) = AHZ(400 K) — 400452 (400 K) = 1397 % - Bmgno™!

;= ( 10 N e 0ET0
o 3.314-4[1{1)_‘

szu = 65700 3a
ab §6732 Bgqbadadgds fumnb mMmojmol Mamoogbmbsls:
V 657000001
Ny,o = Pl—II;TO = 5314300 = (.0198 dmgrn
ab @pgbadadgds 0.0198/3 = 0.0066 mim 39bEa3nmadl. 3db3gmndbAob mabafyobdn yo oym: 1.28/250 =
0.00512 8memn, Magy Baymgds fumob mabsmamembnm gasdmogmmnomby. bmenm 0.00512 dmen
376@sdnmMmadn eolnmma®edeg madmmobsb ndemgzs 0.00512-3 = 0.01536 dmom Hysmls.,
sdgeab gadmdenbafmg, bob@adsdo 39bdslnema@dn o Bmndnemadn dmmmmbeg esodmmads @a
endnema@n fmbabfmmmdadn njbyds dmbminmMmaBoab ms fymnb mmongmab.
@agndgem, fmbabfmMmmanl mBgb&da y Bmann CuS0, - H, 0 a3sd3l. 8s80b fmbabfmMmmdol mfmmls:
CuS0, - 2H,0 — Cu50, - H;0 + H;0
0.0051 0 0.0154
0.0051 -y y 00154 +y
sdy@ab gaBmBrnbafy Bnzomgdo 838008 gedmbabyemgdals:
(0.0154 + y)RT = pV
bangaBag v = 0.0043 dmeno CuS0, - H0
0.0051 — 0.0043 = 0.0008 8m¢mn CuS0, - 2H,0
@3 0.0197 Bmemn H,0

(4 Jama)
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LAEIbGENb gmeen:

3.4. fmbBabfmmmdado dyman bob@gds, Mmdamog oym T1 = 400 K-B7, gesgbamal s snygebal T2

=600 K-Bg.
dofagfmadinfol AmBadinde Bmbalbfmmm §E35%7 gogmobab Bmabimeqbls:
2698.81
logp, e = 10.1759 - 600

Pijo = 476321 3»
(2 Jowme)

ql §6a3s dgqladabads Humol Mmamegbmbal:
L Pu.oV = 476321 - 0.001 -
M0 = TRT = T g314.600  C0o00 dmeo
fymnb gb Mamegbmbs dggbadedgds 0.0955/5 = 0.0191 8mem 396 sdnmadl, Mag bafunl Mamegbmbal
sdafmbgdl. Badsbiamady, bobdg8sdn Bbmmmmo nHymmm Safnmmn (0.0051 8menn) @ fysmmn (0.0255 Gmenn)

ngbgds:
_ ny,oRT _ 0.255-8.314-600 _ g
v 0.001 B

(2 Jaema)

3.5. agedmomzemaom MeBegbn Lo PBEs goEosseanmmb ardn T2 Gad3aMmaBnmaty
ndnbamanl, fm8 Gmbminmadn Bnopmb.

ndnbamznl, Hmd mbminomadn famBmaddbab, bagnfmms bobdgdade nym p = 476321 3a §baza.
= nkT e 0.0255-8.314 - 600 T3 el
AT 476321 e 2
Mmag agbodadgds boBamongls fiy
_Vihy 02671274 sladi
= ILI.rD = 1 -_—
(2 Jnama)

bmgnm 8gbadadnbn Magagbio hy = == = 12.74 b3

Hid

Badabogeady, 12.74 — 3.40 = 9.34 b8

(2 Jame)
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03MBO6S 4. d0LNBOINGO (25%)

4.1

4.2

43 | by

24

4

8 36

LdnEIbGNL gmeen:

a0bnbonbo afmol HModgm3nbmoenmmo moddmbn, Mmdgmbsg dgopszb 8pabafmg
absinthium. ngn babnasmgds 86nd3bymmmaabn dommmaanfmo sdBonfmmdnom. sdbobmobal Mommo
dmemggnmol bobogbn dgbadmgdamne sbigsg dnbadfmnzgn Bagfmomnly LebFmbabol godmyaBadnom.
LbabEmbnbn aeMmq memommee gsdmnuabadmes, Mmammy Jsmabindmomn Foqo0l bafobssmBrogam
dfmgdafmadin @o eagobsmiznl dydandaezgdamns 1337 dobn bobogtafmo sbammmang. Gobn bnbogbol

ahs dmiadnmne Jagdmon:

®

Artemisia

Brz (1 eq) 1) Mg/ Et,0 i
L PRI A A
Fe 2) CO; AICly
3)H.O*
e Li, NH4
Mel
NaH .
(Et0);P(0)CH,COOEt e m
F 2) DIBAL-H CqH1205
i o[ )+ B
Mel S._S l
1) LiAIH, e
H - I C12H130
Cy3H2p02 2) PBry 2) Hg?*, HyO"
1) pTsOH
2) CrO4
1) LDA Me
J —
2) Aggﬂ 03
Me O
1) LDA 5
2) Mel .
( Me |
O, 150W
L
0 Me
Me O
3 o]
a-santonin
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bSnEabGNb ymen:

4.1. hsfafgm A-L Bmenggnemadolb bEmanddanfmnmo amfmdnomgdo geffogem nxfaddn.

A B C

@, Br COOH COOH

Me
D E F
Me
COOH Me'| M N\.COE
8]
M M
e Mo &

G H |

Me Me Me

@/\zﬂﬂz Et Br @/V\ CHO
Me Me Me
] K L
Me Me Me
o}
QEt Me
Me O Me O Me O
9] (o}
(nonmgn o Limfn 3albmbn 2
daume, by 24 Joems).
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bSnEabGNb ymen:

dnonnomydado:
1. bagMmon H-oab Bagfmoinl | Bomadoly bidamnahy aadmynbgdneo bygmaomoznmn Nu fnbabifafm
Fhomgds bbgs gmmmdadn.

2. babimbobol oymfmBnmadol Lodmenmm gdado FomBmamanbl gb-8nafMmomadol Masdanaly s
Jongmmadgmmiboeal 878 mamd magebgzob 33&mban, Mmamgg b Bahzgbydna J338mon:

- y

3. baBsby aebmuyabadnemn sdMaznadnfmgdno:

H- \\S,DH /L J\
Li*

Badmom madne Ldadebg J Bagfomeb gfose mebspfmo 3Mmoenddol baboom sbazg Gonmgds
Bagfmonn M, Mmmbmob dmengmmymn ogmmdnmes CieH0: nagn NaOH-ob  §yasembbbafmonsb
aabiymaboo ndomgzs bagfmomb N gmfmdnenoom CiaHi:0.

Me
1) LDA NaOH/H,0
- M = N
2) ICH.COOE! CigH2-0 “t
I ) ICHz 16H2203 C1aHis0
2

4.2. sfafmgo M @s N Bsgfmomadol bidfnddnfmaemo ammdnmmado:

M N
Me Me
(9]
Me CO,Et e =y
2 Jmemn 2 joyems
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LHEIbGNb gmeen:

omonmyae hzgbasbl damafmdbne Boawagnl bnbn, Mmdamog joweas nafmm ddesfom nafMdBmbs
dnfabg Handnl 3oMmazgmmn Hagomgdol dgbgdols ofmmb. Bnaaanl gb bybo aab3nfmmdadnmns Jagmdo
dmb3gefmaomno dxnbjdfMnzn Bagfmono §, Mmdmol bnbogtn djbsdmodgene 838w@gan Ldgdnb
Babgeznon:

8]

cl LDA (2 eq) KHSOg 1) MaBH4/MeOH
% /\n/\/ SO 4
) Me,CO F R
2 2) Tsci ()
LiAlH,
s
MA=182.31 g/mal
wabdafmgds:

o pogmoobagool Mgedpos dnBenbafmgmal opmdmenbsdoinmere Seghoeo  gbmmadnb
fafm8mgdbom, dogbgeaza@ ndnbas, Mmd godmygbydnmos domngfMmo s dmpnommdnon e3ndy

* 0 @S Bogmngfmadgdn famimamaibgb gdab-Hazfmosh gniomym Bagfmogdl, bmemm P s R
bad-fg3mnsb gniomam Bagmogdb.

o Sl Babasdnmn dmbBmbdnmdn

e 0-Pasfmeeaddbs Gndenbsfmamdl gaad@anmae H:0:, KOH-ab ;sbambnbal

e S Ammainms 8mngaal mMm dymoeol xanab.

4.3. afyfgo O-5 bagfmogdnl bEmaddnfmomo gmmanmgdn

P
o 0
0
2 oo 2 oy
R s
TsO
8 0 OH
2 oo 2 oo
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bSnEabAnb gmen:

08(MBoBo 5. I3MILNIBN (20%)

qdmdln@adn ahmegdem mfmagsbaem bagfMmoadl, Mmdgmosg odzom badfaame gngomafmn smbagmbs s
gojmdo  dgdgtmmadmdol  Lobnom  Omogezgb  g9Badowl. 23mdjlomnfmn  xaumn  dongh
fmasdanobnbsfmnsbne s mfMasbaem  Lobogbdo bdofmoe  geBmoygbabs  banbdgfmabm @
dbnd3zbammaabn Bagfmogdolb dobamydaco.

d378mo dmgdnen  Ldgdety dmpadamos bFommoo (306ommdgbhmean), Mmdgmaog Mgsgnfmgdl
Baafonn A-bosb s feMmdmddBob bagfmomb B 13mdbonl bdfmnddnmoom. gb nisbalisbama jo manbol
81337700l mobomdobal 8sb aofMesddbol aBmigfmymm bagfmomdn €. myobol d153700b Labom
dandmngds gadmznygbmo BFs-OEt; o6 Sc(OTf)a.

BF 3-OEt,
or

Sc(OT
@A\\ A - . c(OTf;

(CgHaO)

51. @sfafmgm A, B s C Bogfmogdol bLMmnddnfmnme amfmdaemadn Badmo dmyzsbogmo
nbaymmBaponb gamzasmnbinbydnm.

A B C
O O =0
Cl JOH I
2 fema
2 Joama
mCPBA s6 Bydal8ngfin
mimgebmnmo dgmmdbogn
(2 Jaems)

Lbgs sfmamfmgabyenn 3nmmdbomen
(1 Jamms)
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LAIEIbGENb gmeen:

5.2. osfhamam B Boagfmonl BF:-OEt: eomobob 8as30b ovebbemadoom dMmmenddl C-do gafmmaddbol
madermymo 877ebnh8n AmbMnemn obfMgdnb ge8mynbadaomas s qemadd&mmbBydnl Bmdfmambal

domnmgdno.
& ©
BF
Freatlalc BF, o BF3
s o.__H !
(o® FsB” @ 0
S N 2
iy —
-BF 4
o
Bahggbadnos 8nb. 4 baggbyfmo +4 dnmas, Bahgabados gemyddmmbgdo +1 gnma, Bahggbados obffgdo +2,
(nbfagdnl mafygdas-coabimymgds shatinbdns +1 gnms); yuzgmash Bahggbgdns BnbEgdn +2 = by 9 Jaems
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Ldnceab@nb ymon:

5.3. ofamamn C  Bogmownb  @nBdenafmno  xan@ol  somBmdfigbn  Masdangbab
asmabadmydnmo Gmemdado,

Lo

(i} AgNO3jag + NaOHjag) = AgOH + NaNOzjay
ob
2AENO 32y + ZNaOH|aq) = Ag20 + 2ZNaMNOajaq + H20
(i) AROH + 2NHsiaq) = Ag(NH3)z"1aq) + OHjaq)
ob
Aga0 + ANH3(ag)+ Hz0 = 28g(NH3)z2"(ag) + 20Haq)
{iii) PRCH:CHO + 2Ag(NH3)2"jam + 30H 1aq = PhCH2CO: + 28g + 4NH3aq + 2H20

a6 bbzs sm8mdhabn Maadpnado

{bam 6 dnma, 2 doms onmmgymn Limfao madamabligdnmn dmmmanbimznk. )

5.4. B-sb C-0n gofmaddBol Bydmo Bmyzsbon 834ebnbdnl gemzemabfnbadom, wsfafam nd
3mmenddadol LBmnIdEnmmn  ammdnmgdo, mmdmgdos doomads  Bagfmonb  C-nb
Bagama, oy bEnmmenob Bapzmae bafyol Bagmopdee s3nmgdenm @jodgmngdnb
dadzam  LEoMmmennl Gom8madamadl LEafmem-D1-b s LEafMme-D2-b.  Esfafmgom
dgbadadoln Myadpnadnb 3mmenddadn. d16adsbs: "D" smbndbazl andamomdol nBm@Email,

S D
D
LEnMmm-D1 bHnfMmm-D2
Immeenddn 1 fmmenddn 2
H D D H
O Q
H D
(2 Fams) (2 Jame)
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bSnEabdnb gmen:

5.5. @bmbnmns, Mmd BmangMmon 1,2-momen 830 ofMadn  aebogeeolb 2.5, dobagmmnbam
ASC0o¥ANm0sl, @ofafmam CisHieO  3c0aabommmdnl  yzneme  dgbademm  3fmmenddnl
bdmpddmhnmn ogmfMmdygme, Mmdgmog dgodegds  fomBmoddbel 4378mo Bmggdnmo
omenl 1 gmanfmedgszebmsb gmomee gagbamabdob emmb. dg8mbstgo, MmBamn omasbo
afnl dofnmscen 3Mmoenddo.

Ph

Ph

1

dofMnman 3Mmenddn Q<Pfh
CL. 0

Fh 2 doumo
Ph
(2 Jams + 2 Tnme, Mmgmig
dofmnmaen mmeyddn)

dobagmennbafmn gamexanagdol 8bassbn Mysdans Gndenbafmgmalb gdmdbo xanmob 3783000
bagfmomadnbacanl, Gmdgmmbsg  Babgzafm-3nbagmmobnfn  Asmoxanogds  gfmmads.  J3gbmom
Bmgadnmmn gdmdboeo 2 anobol gedoemobedmfnl SnCle-nb msBamdnbsl asbngoal 8bassl
aofnoagdbab bagfmondn E.
HeC. 1 P

Sﬁ':ld
CH,Cl,

(C42H103)

5.6. geblbabmafmaom LdaMmamnbdmgd)al mbogngafmagos (R, 5) 23mdbnedo 2 js6-nbammoo-

dfgmmmanl  §abols Bobgezncm. (f3rdmo dmgadnen LAGMIENMAsYY  ssfafgom R S
boddmmmadn)

LiBafmameab@madn +1 Jame, bam 3 dames, smbsngnfmagns +1 Jame= baem 3 doeme; xado & Jams
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Ldnceab@nb ymon:

5.7. w@sffamgom Baafmoob E bdMmnd&nfmamn amminms bamamdndoob gemzsmabfobibom:

“OH
(bEfd@Eams 2 fame, bGafmogm 88s 1x3=3 dnema, by 5 J9ens)

mmaabyem bobongBdo obazg 86nd3bymmzabn a3nbionmo yanmos sBnfMoenbn - LadfyaMmosbn
dadafmmanimnfmo Bagfon, Mm3gmog Jebadswnl Bagamae dmopesl sBmGal sGmdl. J338mom
dmpadnom bdadathy 8mpadynomns modnemmimnenbob Bafamdnl bnbomgtin.

H Br ~~_-OH Mg
\ﬂ/\/ HO . E -G

. 2
0 H I:CEL} {CSHQBTGE} THF
G,
Me.,
:‘w CUBF - i HCI :
o THF
Ts (C15H23NO,4S) (Cy5H23NO,4S)
_~_-SiMe;
CF4CO,H
Na
O y  Hy/Pd ,
Me* N7 TS m CH50H
H (C1gH25N0O,S) (C1gH23NO,S)
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bSnEabGNb ymen:

5.8. wafafmgm F-K Baafmomgdol bdfmad&afnomo ammdnmmadn Ligfmgmdondonk
gamzamnbfnbydnor:
F G H
<‘D <‘D 0
D’k/\ Br DJ\/\MgBr 0
(2 Jaema) (2 Fama)
TsHN™ ‘Me
(2 Jaas + 1 Jomes bBafmgmgodns
=3 Joms)
I J K
() Q) Q)
Me* N Me* N7 TS Me™ N7
Ts Ts Ts
(2 Jnems + 1 Jaemes boMamgn8ns | (2 Jaema + 2 Jamms bdaMmdndns | (2 Joms + 2 Jame biymomgndas
=3 Joma) - .
4 Foma) 4 Jama)
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